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Threading the Loom.

This News is & continuation of the March issue in order to explaiz *he nex
steps in the hexdling of a threesding draft and putting it into the loom. Devera have
asked me to f:ive oy method for doing this,and I hope this will be cleer and helpZul.

Writing out the Arrenmment of the Threading draft for the werp threeds o be usec.

We will use tte same pattern draft as for the Merch News,repeated asbove for conven-
ience, Any nu=cer of warp threads can be taken as desired, but we are goink %o zaxe
only 240. One =epeat is from A to B. For each threading draft rou use,slwsys wrisze
out the arrangement plan &nd follow 1t as you thread the loom.

Start at B,threed from E to B =~ 13 threads
A to B is 68 thresds,repeated T times - 204 "
B to D,the las: patvtern block like the first- 10 "
B to B, to enc end balance the patiern - 13 "

Toteal 240 hd

Counting the XNumber of heddles for each loom hsrness. Before the threadiag of the
joom can pegin,%e ZUST Know how many heddles are needed for each harpness of the loom.
Divide the threeding draft inte groups of 20 or more threads. Label these groups W*th
roman numberals I,II,III,IV, etc as necesary according to the length of the threeding,
Then count the number of heddles on each of the 4 harnesses of these groups.iAlso those
for B to B, ané 2 to D. Write these all down as shown below, Get the totals by 24iding
up tke groups,:in *the order in which the vattern is to be threaded into the loom.

Group I. Group II. Group. III, B to D E to B
Harness 1- 6 x 3 - 5x 3 l- 4x3 1-5 1= I x 2
" 2¢ 6 x3 2- 5x3 2- 4x3 2= 5 2« 1 x 2
" 3- 5x3 3- 6 x 3 3= 8x3 3= 0 3= 5§ x 2
n 4- 513 4- 83 4= _Bx3 4-0 4- 5x 2
22 22 24 15

To get the total zumber of heddles for each harness,add the number of heddles for
each of the gr-ours and for B to D, and E to B.Ir correctly done, this should come out
to the correct otal for the number of warp threads being used,or 240 in this cease,
Group I,II, and III is A to B which is repeated 3 times,and B to Z is rereated twice.

So we have Harness l- 52 heddles

2-52 = {Thread the first and the last heddle with
3= 87 hd 2 threads to make the 240 warp threads
4- 67 which 1s our total number %o be used.)

Tesal 238 heddles
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Now ectuelly count orf? the nuzmber of heddles needed for eeacn herness oo “ne :og%;

If thers are not 2nous™ heidles on & nharness,rercve the nazniss f:--A‘:af ;::“w,.y

on i%t,ani taxe of some in order %o mekKe Ihe cOrrect &ount 0T Tae Ovies nsrness.,
it,anc E 22

A -~ -
To enarce heddles fror one herness 10 ancther,loosen the heicle be?s_Ji pc.“m:arngss
es maxe off two of the heddles Ifrom the harness which has too manv »eddlies,..ree

e h ) s,using one for the ICD anéd one for

le mcwed orf on these two heddle .
the heddres B0 e neas +aken off. Then these can be slipped eesily on the

t=om of the heddles being © €
ggzdgg bars of the harness which needs more heddles., Do not take hedlles ef{isingly.
Always thread them on one of the other harnesses in this way.lt seves much time.
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Cienging Reddles. Thresding the loom. looping tre Group.

Threading the Loom without mistakes. This will be given in detall in order to show
the met~oc we use to avoid meking mistakes in the threading of the loom. After the
correct number of heddles have been arranged on each loom harness,we are ready to
thread, Follow the arrangement plan given on Page l.Start with the z-oup £ o B,
Count of® 1 heddle. on herness 1, 1 on harness 2,5 heddles on herness 3,an? 5 heddles
on harness 4,.,”ush these counted heddles to the right side of the looxz 2s you sit in
£ront of i1t.and the uncounted heddles all to the left,leaving & space hetween, It is

o

easier or & large lnom %o remove the beatten and breast beam while threading,

Bring the first group of werp threads through the space between the ccunted snd un-
counted heddles.Eold them %taut between the 3rd and 4+h fingers of the le’t hand.

With the right hend pull out the first two warp threeds,reaching through the harnesses
from the right of the counted heddles.Make a loop of these two threeds snd tut thenm
inot the 2irst heddle on harness 3..Continue to pull out one thread et a tine from
the group,loop it with the right hend,~nd thread 1t into its proper heddle 2=nd herne

N4

ess until the group of I to B, 18 threads,is finished. This is shown et Figure No.2.

Loop each group with & loop knot easy to untie as shown at Figure No.3 above, Now we
thread Reepat 4 to B three times.Start with group I.Count off the reguired heddles
for each herness of this group,which is 22. Agsin bring the group of wmerp ithreads %o
the left 97 these heddles,end proceed to thread according to the threaling 2r-aft Zor
this group. If enr missakes are made while threeding, the number of heddles ¥Ill not
come out right.It is easy to check and find the misstaxe if one has been mede. Tde
these th-eads into & group,this is group I. Thread group II end IIT in <he seme way.
Be sure you meke 1o mistekes when you count of2 the heddles on each harness,snd that
you thresd correctly.It is easier to have a smell number for & rythmm, than <o look
at the peper Zor every thread vou take up,., This method of threading in 3gToups,allows
you to siop at any point.3y couniing the groups finished,you know just where to hegin

threading agein when you returm.

After the patiern is threaded into the loom,it must be drawn or sleyed through the
reed with the reed hook. In this case we put two threeds through each Aent or slit

of the reed, Take care in sleying not to let any of the warp threads get croassed.
And take shem exactly in order as they come from the heddles to the reed.
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7 Figure No.4 shows how the warp threads are tied %o

the cloth beam.Be sure each group is the same tension
This is important if the weaving 1s to be even.Press
down on eech group with the finpers elfler <lher are
tied to see how the +tension is. The ezd grcups can

be tied first,then the center group,and so on for the
width-of the loom. Retie as necesery %t zet the groups

even.
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